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1861 AR EH 48 42 90 117 783

1961 Hig B{C 50 44 94 153 787

204 HH RER 48 48 96 173 787 E

2142 [RE 1EFD 47 48 95 156 794

22437 45 =ER 49 51 100 204  79.6

234 FEIL R 47 44 91 111 799

2441 Kk 58 53 49 102 219  80.1

254 £ BRF 45 49 94 138 802

260 Hi5m IEER 47 49 96 140 820

2741 [ FF 50 47 97 150 820

2841 Fft AT 48 54 102 200 820

291 HE BAY% 55 51 106 238 822

06 HFR 1B 51 52 103 207 823 &

L Fig R 48 52 100 171 829

324 [EH ZHif 51 46 97 134 836

L =¢ BF 53 54 107 230 840

4L [LEE E 49 49 98 138 842

354 WA A 46 55 101 165 845

6L A H= 51 51 102 172 8438

374 PAIER EiR 52 57 109 240 850
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